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Note : The paper contains three sections : A, B and C. 

Instructions are given in each section along with marks. 

SECTION — A 

Answer any two questions from this section : 2x12=24 

1. Explain the fundamental problems faced by an 
economy. 

2. What are the factors that make competition 
monopolistic in a market ? Examine the effect of 
selling costs on price in such a market. 

3. Discuss the marginal productivity theory of 
Distribution. Why is it not considered a 
satisfactory theory of distribution ? 

4. State and illustrate diagrammatically the Law of 
Variable Proportions. How does it differ from 
returns to scale ? 
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SECTION - B 

Answer any two questions from this section : 2x8=16 

	

5. 	(a) Describe the point method of measuring 
price elasticity of demand. 

(b) Point out the importance of price elasticity 
of demand. 

	

6. 	"Profit is a reward for uncertainty bearing". 
Explain. 

	

7. 	Distinguish between 'fixed' and 'variable' costs. 
What is the relevance of this distinction in price 
determination ? 

	

8. 	Explain the following : 
(a) Opportunity Costs 
(b) Discriminating Monopoly 

SECTION - C 

9. Distinguish between any two of the 
following : 	 2x5=10 
(a) Microeconomics and Macroeconomics 
(b) Positive economics versus Normative 

economics 
(c) Stocks and Flows 
(d) Price elasticity and Income elasticity of 

demand 
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